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If each side of a cube is reduced by(50%.)The surface area will reduced by-
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If each side of a cube is increased by 100%./ The surface area will increased by-
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If each side of a cube is increased by(20%, The volume will increased by-
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If *is an operation such that a *b=3a-4b, find the value of 3*4.
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If *is an operation such that a *b=11a + 2b, find the value of 5*2.
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If *is an operation such that a *b *c =a + 2b — 3¢, find the value of 5*2*1.
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Two numbers are in ratio of 7:10 and if the sum of the numbers is 119. Find the
difference of the numbers. 3
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Two numbers are in if the sum of the numbers is 112. Find the

difference of theé numbers
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Two numbers are in ratio of 5:3 and if the difference of the numbers is 52. Find

the sum of the numbers.
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What is the next number in the following number series ?
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What is the next number in the following number series ?
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If the sugar price is increased by 25% by how much percent consumption should

be reduced that expense remains same.
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If the sugar price is decreased by 10% by how much percent consumption should

be increased that expense remains same.
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Present ratio of ages of Mukesh and Dinesh is is 2:5 . After 12 years this ratio

becomes 5:8 .Find the present age of Mukesh.
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Mohan's Mother is three times as old as Mohan. After 6 years, his mother will be

two times as old as he will be them, find the age of Mohan.
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Find the average of first 8 multiples of 8 is.
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Find the average of ﬁrst@nultlples of 9 is.
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Find the average of first 9 prime number . @

TSTH()STHTS TEATST T 3T ATd iU
< PRACTICE QUESTIONS
QA BB

Y n A
10

LR | —




=3 1912151 CUET 2023

A rectangular paper of width 8 cm and length 22 cm rolled along it width and a
cylinder is formed.

(A)Find the radius of the cylinder is.
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A rectangular paper of width 8 cm and length 22 cm rolled along it width and a
cylinder is formed.

(B) The volume of cylinder is:
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A rectangular paper of width 8 cm and length 22 cm rolled along it width and a cylinder

is formed.
(C) If the outer surface area of cylinder is painted 0.5/cm?, then the total cost of painting
is
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Thank you



